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#include <stdio.h>
ttdefine Num 10

int main(void) {
int a[] = { 65, 52, 76, 88, 100, 16, 55, 76, 67, 65 };
int juni[Num];
int i, j;

for (i = 0; 1 < Num; i++) {
juni[i] = 1;
for (j = 0; j < Num; j++) {
if (a[ (7) 1>al () D

juni[i]++;

}

printf(" R NBA¥n");

for (i = @; i < Num; i++) {
printf("%6d %6d¥n", a[i], juni[i]);

}

return 9;
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#include <stdio.h>

int main(void){
int i, n;
bool s;

scanf(“ %d”, &n);
for(i = 2; i < n; i++){
if(n (7)) 1i==0){

s = true;
1) ;
}else{
s = false;
}
}
if( (V) ) A
printf("FETIIH Y FHA¥N");
}else{
printf (" TI¥n");
}
return 0;
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#include <stdio.h>

int (7)) ;

int main(void) {

int n;

for (n = 9; n < 10; n++)
printf("%2d! = %led¥n", n, kaijo(n) );

return 0;
}
int kaijo(int n) {
if (n == 9)
return 1;
else
return n * (1) ;
i
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#include <stdio.h>

t#tdefine N 10

int main(void) {
int a[] = { 5, 6, 10, 11, 29, 51, 55, 71, 88, 90 };
int key, low, high, mid;

printf("BRBETDHT—F? ");
scanf(" %d", &key);
low = 0; high = N - 1;
while (low <= high) {
mid = (7) ;
if (a[mid] <= key)
low = (A1) ;
if (a[mid] >= key)
high = (V) ;
I
if (low == high + 2)
printf(" %d |3 %d FHIZHY E Liz¥n", a[mid], mid);
else
printf (" RoH0) ERHATL¥N");
return @;



